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There are 40 questions in this paper. Choose the most suitable answers. 

1. In a spreadsheet, 5-digit membership numbers for a sports club, 00001, 00002, ... , 99999, are entered
in some cells. Which of the following cell formats should be used?

A. General format
B. Number format
C. Text format
D. Scientific notation format

2. In a device, 8 bits and 16 bits are used to store a character and an integer respectively. How many bytes are
required to store the string 'HKDSE5'?

A. 6 bytes
B. 7 bytes
C. 48 bytes
D. 56 bytes

3. Study the following three SQL commands.

SELECT * FROM MEMBER 
SELECT * FROM MEMBER WHERE age <= 40 
SELECT * FROM MEMBER WHERE age >= 20 

The results of the three SQL commands are the same. Which of the following is/are the possible cause(s)? 

(I) MEMBER is empty.
(2) The values of the field age in MEMBER range from 20 to 40 inclusive.
(3) age is the only field in MEMBER.

A. (I) only
B. (3) only
C. (I) and (2) only
D. (2) and (3) only

4. Mary produces daily sales reports for a supermarket on a word processor, using the data and charts stored
in several spreadsheet files. The data and charts are updated frequently. Which of the following is most
helpful to her?

A. Mail merge
B. 'what-if scenarios
C. Object linking and embedding
D. SQL

5. A code consists of 6 digits where the digit on the far right is a check digit. The check digit method used for
the code is that the sum of all 6 digits is divisible by 10. Which of the following codes is valid?

A. 246822
B. 246824
C. 246826
D. 246828
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11. Which of the following items can be included in a portable document format (PDF) file?

(1) Hyperlinks
(2) Photos
(3) Formatted text

A. (1) and (2) only
B. (1) and (3) only
C. (2) and (3) only
D. (1), (2) and (3)

12. Peter uses a word processor to produce the rundown of a music performance, as shown below:

Name Instrument Time 

Yvonne Piano 2:00 pm 
Alan Violin 2:20pm 
Nelson Flute 2:40pm 
Sammy Oboe 3:00pm 

Which of the following can help Peter produce the rundown? 

( 1) Set tab stops.
(2) Set columns.
(3) Insert a table.

A. (1) and (2) only
B. (1) and (3) only
C. (2) and (3) only
D. (1), (2) and (3)

13. The following figure illustrates the components of an information system.

Processes 

Data 

Networks 

Which of the following matches is not correct? 

Component 
A. Personnel
B. Software
C. Data
D. Networks

2016-DSE-ICT IA-4 

Example 
Chief Information Officer (CIO) 
Operating system 
FTP 

WAN 

7 

Personnel 

Hardware 

Software 

Provided by dse.life



Provided by dse.life



19. Which of the following functions will an operating system usually provide?

(1) Control of processes
(2) Allocation of memory
(3) Record ofnetwork traffic

A. (1) and (2) only
B. (l) and (3) only
C. (2) and (3) only
D. (1), (2) and (3)

20. The clock rate of a CPU is 2 GHz. Which of the following statements is correct?

A. The CPU executes 2x 109 instructions in a second.

B. The CPU performs 2x109 clock cycles in a second.

C. The cache memory of the CPU transfers 2xl09 instructions in a second.

D. The ALU of the CPU takes 2x10!> clock cycles for an instruction.

21. Peter upgrades a server by replacing the hard disk with a solid-state disk (SSD). Which of the following
properties of SSD benefit(s) the upgrade?

(I) Higher data transfer rate
(2) Lower power consumption
(3) Smaller storage capacity

A. (2) only
B. (3) only
C. (1) and (2) only
D. (1) and (3) only

22. When a personal computer is turned on, it loads data from the ROM and checks that all major components
are functioning properly. ROM cannot be replaced by RAM in this process because

A. the storage size of RAM is smaller.
B. RAM is volatile.
C. the data transfer rate of RAM is lower.
D. RAM is random access.

23. The Internet of Things (IoT) refers to the networks formed by devices which can collect and exchange
data. The networks are usually connected to the Internet. Which of the following items should the devices
usually have?

A. an IP address
B. a CPU with a high processing power
C. aDNS
D. a large storage capacity
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